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INTEGERS

The collection of whole numbers and the negatives of whole numbers together are called the Integers.
Numbers,Z=1{....-4,-3,-2,-1,0,1,2,3,4,...} areintegers.

OPERATIONS ON INTEGERS

Addition of Integers using basic operations

~
J

Rule 1: To add two integers of like signs, find the sum of their absolute values (numerical

values without taking the sign) and place the common sign before the sum.

Example: -2-5=—(2+5) =-

Rule 2: To add two integers of unlike signs, find the difference of their absolute valies

(numerical value without taking the sign) and place the sign of the integer which has the larger

absolute value before this difference.

Example: (-2 + 5) =3
S esewwsr
jubtﬂ‘f“zlﬂsing basic operations N

If aand b are two integers thena=bis equal to a + (-b), i.e., to subtract b from a, change the sign of
bandadd it toa.

Rule: /(i) Change the sign of the subtrahend. (i) Add by the rules for adding integers.
Example: Subtract—8 from 5.

Solution:5-(-8)=5+8=13

MULTIPLICATION OF INTEGERS

~

f Rule 1 : To find the product of two integers with unlike signs, we find the product of their values J
regardless of their signs and give a minus sign to the product.
Rule 2 : To find the product of two integers with the same sign, we find the product of their values
regardless of their signs and give a plus sign to the product.
Example: (i) 35 X (-18) (if) (-70) x (-31)
Solution: (i) 35 X (-18) =—(35 X 18) =-630 (i) (=70) < (-31) = (70 x 31) = 2170 )

\
Grade-7 | Integers
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Grade-7 | Integers

= EXERCISE e

Directions: Solve the following multiple choice questions by choosing the most appropriate option.
1.

axX(b+c)=axb+axciscalled
(1) commutative property (2) associative property
(3) distributive property (4) closure property

Find the value of the expression 10000 = {(80 + 100 + 5) x 100}.
(10 (2)1 (3)10 (4) 100

The difference in temperatures +50°C and-50°C is
(1)1°C (2)0°C (3)50°C (4)100°C

Simplify: 19 + % [{-20 X (55-13=3 )} + (-5)].

(1)50 (2)55 (3)60 (4) 65
Simplify:

38-2(5- 8 -3 )[2{7 + (-3) x (-4)}]

(1)35 (2)37 (3)38 (4)39

Which of the following number sentence below best describes the problem shown on the number line ?

t t t t t t t t t t t t |
5-4-3-2-1012 3 45
(1)-2 + (-+4) (2)-5+3 (3)5 + (-3) (4)-4 +2

Calculate the value of [(—-4) X (-9) X (-25)] = [(-2) % (-3) X (-5)].
(1)10 (2)20 (3)30 (4)40

Calculate the value of 12-[7- {16 -(18-6+3-12)}].
(1)3 (2)2 (3)1 (4)0

Simplify : 222 - [%{42 +(56-8 + 9)} + 108] .
(1)87 (2)88 (3)89 (4)90
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